

$$[x] \quad \{x\}$$

1. $[\cdot]: \mathbf{R} \rightarrow \mathbf{Z}$: x
 $k \quad k+1, \dots k \leq x < k+1, \quad [x] = k$

1. $\text{NZD}(a, 4) = 1, \quad \left[\frac{a}{4}\right] + \left[\frac{2a}{4}\right] + \left[\frac{3a}{4}\right] = \frac{3a-3}{2}.$!
 $a = 4q + 1 \quad a = 4q + 3.$

$$\left[\frac{a}{4}\right] + \left[\frac{2a}{4}\right] + \left[\frac{3a}{4}\right] = q + 2q + 3q = 6q = \frac{3a-3}{2}.$$

$$\left[\frac{a}{4}\right] + \left[\frac{2a}{4}\right] + \left[\frac{3a}{4}\right] = q + (2q + 1) + (3q + 2) = 6q + 3 = \frac{3a-3}{2}.$$

2. $\left[\frac{4}{p}\right] + \left[\frac{6}{p}\right] + \dots + \left[\frac{2(p-1)}{p}\right] = \left[\frac{p+1}{4}\right],$ -

$p = 3$ $p > 3,$
 $p = 4n + 1 \quad p = 4n + 3. \quad \left[\frac{4}{p}\right] = 0 \quad \left[\frac{2(p-1)}{p}\right] = \left[1 + \frac{p-2}{p}\right] = 1,$

$$\frac{p-1}{2}$$

$\left[\frac{2 \cdot 2x}{p}\right] = \left[\frac{4x}{p}\right] \quad 4x < p \quad x < \frac{p}{4}.$,
 $x = \left[\frac{p}{4}\right].$, $\frac{p-1}{2} - \left[\frac{p}{4}\right], \dots n$

$p = 4n + 1 \quad n + 1 \quad p = 4n + 3. \quad \left[\frac{p+1}{4}\right] \quad n \quad p = 4n + 1$
 $n + 1 \quad p = 4n + 3.$

2. $\{\cdot\}: \mathbf{R} \rightarrow [0, 1) \quad \{x\} = x - [x]$

$x.$

3. $\{10^n \sqrt{2}\}, n = 0, 1, \dots$

$$\{10^p \sqrt{2}\} = \{10^q \sqrt{2}\}, p \neq q \quad \sqrt{2} = 1, d_1 d_2 d_3 \dots$$

$$d_{n+p} = d_{n+q}, \quad n = 1, 2, 3, \dots, \quad \sqrt{2}$$

$$|p - q|, \quad \sqrt{2}$$

- 1.** $x \ y$.
-) $[x] \leq x < [x] + 1, \quad x - 1 < [x] \leq x, \quad 0 \leq x - [x] < 1$
 -) $[x] + [-x] = \begin{cases} 0, & x \\ -1, & x \end{cases}$.
 -) $[x + m] = [x] + m, \quad m$.
 -) $[x] + [y] \leq [x + y] \leq [x] + [y] + 1$.
 -) $[x - y] \leq [x] - [y] \leq [x - y] + 1$.
 -) $[x][y] \leq [xy] \leq [x][y] + [x] + [y], \quad x, y \geq 0$.
- e) $[\frac{[x]}{m}] = [\frac{x}{m}], \quad m$.
-) $[\sqrt{[x]}] = [\sqrt{x}], \quad x \geq 0$.
 -) x , $[-x] = -[x]$. A x ,
- $[-x] = y \quad -y - 1 < x < -y \quad [x] = -y - 1 \quad [-x] = -[x] - 1$.
-) $x + m - 1 < [x + m] \leq x + m \quad x + m - 1 < [x] + m \leq x + m$.
 -) $[x + m] \quad [x] + m$,
 -) $[x + m] = [x] + m$.
-) $x = n + r, \quad y = m + s, \quad m, n \in \mathbf{Z} \quad 0 \leq r, s < 1$.
- $$[x] + [y] = m + n \leq [n + r + m + s] = [x + y]$$
- $$= m + n + [r + s] \leq n + m + 1 = [x] + [y] + 1$$
-) $[x - y] + [y] \leq [(x - y) + y] \leq [x - y] + [y] + 1$,
- ..
- $$[x - y] \leq [x] - [y] \leq [x - y] + 1$$
-) a) $[x][y] \leq xy < ([x] + 1)([y] + 1)$,
 -) $[x][y] \leq [xy] \leq ([x] + 1)([y] + 1) - 1 = [x][y] + [x] + [y]$.
- e) $x = n + r, \quad n = qm + r, \quad 0 \leq r < 1, \quad 0 \leq r < m - 1$.

$$\left[\frac{x}{m}\right] = \left[\frac{qm+r+r}{m}\right] = q + \left[\frac{r+r}{m}\right] = q. \quad (1)$$

$$, \quad 0 \leq r+r < m$$

$$\left[\frac{[x]}{m}\right] = \left[\frac{n}{m}\right] = \left[q + \frac{r}{m}\right] = q. \quad (2)$$

$$, \quad (1) \quad (2) \quad \left[\frac{[x]}{m}\right] = \left[\frac{x}{m}\right].$$

$$) \quad x \geq 0, \quad x = n^2 + r + \{x\} \\ n \quad r \quad , \quad 0 \leq r \leq 2n. \quad ,$$

$$[\sqrt{[x]}] = [\sqrt{n^2 + r}] = [\sqrt{n^2 + r - n + n}] = n + [\sqrt{n^2 + r - n}] = n + \left[\frac{r}{\sqrt{n^2 + r + n}}\right] = n.$$

$$, \\ [\sqrt{x}] = [\sqrt{n^2 + r + \{x\} - n + n}] = n + [\sqrt{n^2 + r + \{x\} - n}] = n + \left[\frac{r + \{x\}}{\sqrt{n^2 + r + \{x\} + n}}\right] = n$$

$$0 \leq r + \{x\} < 2n < \sqrt{n^2 + r + \{x\} + n}. \quad , \quad [\sqrt{[x]}] = [\sqrt{x}].$$

$$1. \quad x \in \mathbf{R}$$

$$\left[x + \frac{1}{2}\right] = [2x] - [x]. \quad (3)$$

$$. \quad x \quad x = k + r \\ x = k + \frac{1}{2} + r \quad k \in \mathbf{Z} \quad 0 \leq r < \frac{1}{2}.$$

$$x = k + r ,$$

$$[k + r + \frac{1}{2}] = k ; [2k + 2r] = 2k ; [k + r] = k ,$$

$$(3). \quad x = k + r + \frac{1}{2},$$

$$[k + r + \frac{1}{2} + \frac{1}{2}] = k + 1 ; [2k + 2r + 1] = 2k + 1 ; [k + r + \frac{1}{2}] = k ,$$

$$(3).$$

$$4. \quad n \in \mathbf{N}.$$

$$\left[\frac{n+1}{2}\right] + \left[\frac{n+2}{2^2}\right] + \left[\frac{n+2^2}{2^3}\right] + \dots + \left[\frac{n+2^k}{2^{k+1}}\right] + \dots$$

.

$$\left[\frac{n+1}{2}\right] + \left[\frac{n+2}{2^2}\right] + \left[\frac{n+2^2}{2^3}\right] + \dots + \left[\frac{n+2^k}{2^{k+1}}\right] + \dots = \left[\frac{n}{2} + \frac{1}{2}\right] + \left[\frac{n}{4} + \frac{1}{2}\right] + \dots + \left[\frac{n}{2^{k+1}} + \frac{1}{2}\right] + \dots$$

$$= [n] - \left[\frac{n}{2}\right] + \left[\frac{n}{2}\right] - \left[\frac{n}{4}\right] + \dots + \left[\frac{n}{2^k}\right] - \left[\frac{n}{2^{k+1}}\right] + \dots = n,$$

$$k = [\log_2 n] + 1$$

0.

$$n = \overline{x_m x_{m-1} \dots x_1 x_0} = \sum_{k=0}^m 2^k x_k, \quad x_i \in \{0,1\}$$

$$n \quad \cdot$$

$$\left[\frac{n+2^k}{2^{k+1}} \right] = \begin{cases} \overline{x_m x_{m-1} \dots x_{k+1}} + x_k, & k > m, \\ x_m, & k = m, \\ 0, & k < m. \end{cases}$$

$$\sum_{k=0}^{\infty} \left[\frac{n+2^k}{2^{k+1}} \right] = \overline{(x_m x_{m-1} \dots x_1 + x_0)} + \overline{(x_m x_{m-1} \dots x_2 + x_1)} + \dots + (x_m + x_{m-1}) + x_m$$

$$= x_m (2^{m-1} + \dots + 2^1 + 2^0 + 1) + x_{m-1} (2^{m-2} + \dots + 2^1 + 2^0 + 1) + \dots + x_1 (2^0 + 1) + x_0$$

$$= 2^m x_m + 2^{m-1} x_{m-1} + \dots + 2x_1 + x_0 = n,$$

2. $n \in \mathbf{N} \quad x \geq 0, \quad \left[\frac{x}{n} \right]$ -

$$x, \quad n.$$

$$\cdot \quad n : n, 2n, 3n, \dots \quad j$$

$$x, \quad n.$$

$$jn \leq x < (j+1)n, \quad \dots \quad j \leq \frac{x}{n} < j+1.$$

$$, \quad j \leq \left[\frac{x}{n} \right] < j+1, \quad \left[\frac{x}{n} \right] = j.$$

2. $p \quad , \quad n \in \quad a$

$$p \quad p^a | n!, \quad ,$$

$$a = \left[\frac{n}{p} \right] + \left[\frac{n}{p^2} \right] + \dots + \left[\frac{n}{p^k} \right] + \dots \quad (4)$$

$$\cdot \quad 2 \quad 1, 2, \dots, n \quad \left[\frac{n}{p} \right] \quad p,$$

$$n! = p \cdot 2p \cdot \dots \cdot \left[\frac{n}{p} \right] p M_1 = p^{\left[\frac{n}{p} \right]} \cdot \left[\frac{n}{p} \right]! \cdot M_1$$

$$M_1 \quad p \cdot$$

$$1, 2, \dots, \left[\frac{n}{p} \right]$$

$$\left[\frac{\left[\frac{n}{p} \right]}{p} \right] = \left[\frac{n}{p^2} \right],$$

$$n! = p^{\left[\frac{n}{p} \right] + \left[\frac{n}{p^2} \right]} \cdot \left[\frac{n}{p^2} \right]! \cdot M_2$$

M_2

p .

$$n! = Mp^{[n/p] + [n/p^2] + [n/p^3] + \dots}$$

M

p ,

(2).

1.

,

p

$n!$.

5.

$1993!$?

.

N

,

$1993! = 10^N M, M \in \mathbf{N}$

10.

$10 = 2 \cdot 5$

$$N = \min\{N_1, N_2\},$$

$$N_1 = \left[\frac{1993}{5}\right] + \left[\frac{1993}{5^2}\right] + \left[\frac{1993}{5^3}\right] + \left[\frac{1993}{5^4}\right] + \left[\frac{1993}{5^5}\right] + \dots = 495$$

$$N_2 = \left[\frac{1993}{2}\right] + \left[\frac{1993}{2^2}\right] + \left[\frac{1993}{2^3}\right] + \dots + \left[\frac{1993}{2^{10}}\right] + \left[\frac{1993}{2^{11}}\right] + \dots = 1986.$$

$$, N = 495, \dots, 1993! \quad 495 \quad .$$

6.

$$a + b + \dots + m \leq n; n, a, b, \dots, m \in \mathbf{N},$$

$$\frac{n!}{a!b! \dots m!} \in \mathbf{N}.$$

!

e.

2

p

$n!, a!, b!, \dots, m!$

$$\left[\frac{n}{p}\right] + \left[\frac{n}{p^2}\right] + \dots + \left[\frac{n}{p^k}\right] + \dots$$

$$\left[\frac{a}{p}\right] + \left[\frac{a}{p^2}\right] + \dots + \left[\frac{a}{p^k}\right] + \dots$$

$$\left[\frac{b}{p}\right] + \left[\frac{b}{p^2}\right] + \dots + \left[\frac{b}{p^k}\right] + \dots$$

.....

$$\left[\frac{m}{p}\right] + \left[\frac{m}{p^2}\right] + \dots + \left[\frac{m}{p^k}\right] + \dots$$

, p

,

2

$$\frac{n!}{a!b! \dots m!}$$

$$\left(\left[\frac{a}{p}\right] + \left[\frac{a}{p^2}\right] + \dots + \left[\frac{a}{p^k}\right] + \dots\right) + \left(\left[\frac{b}{p}\right] + \left[\frac{b}{p^2}\right] + \dots + \left[\frac{b}{p^k}\right] + \dots\right) + \dots + \left(\left[\frac{m}{p}\right] + \left[\frac{m}{p^2}\right] + \dots + \left[\frac{m}{p^k}\right] + \dots\right) =$$

$$= \left(\left[\frac{a}{p}\right] + \left[\frac{b}{p}\right] + \dots + \left[\frac{m}{p}\right]\right) + \left(\left[\frac{a}{p^2}\right] + \left[\frac{b}{p^2}\right] + \dots + \left[\frac{m}{p^2}\right]\right) + \dots + \left(\left[\frac{a}{p^k}\right] + \left[\frac{b}{p^k}\right] + \dots + \left[\frac{m}{p^k}\right]\right)$$

$$\leq \left(\left[\frac{a}{p} + \frac{b}{p} + \dots + \frac{m}{p}\right]\right) + \left(\left[\frac{a}{p^2} + \frac{b}{p^2} + \dots + \frac{m}{p^2}\right]\right) + \dots + \left(\left[\frac{a}{p^k} + \frac{b}{p^k} + \dots + \frac{m}{p^k}\right]\right)$$

$$\leq \left[\frac{n}{p}\right] + \left[\frac{n}{p^2}\right] + \dots + \left[\frac{n}{p^k}\right] + \dots$$

... p -

.

p

$$\frac{n!}{a!b! \dots m!} = \frac{p_1^{\Gamma_1} p_2^{\Gamma_2} \dots p_t^{\Gamma_t}}{p_1^{S_1} p_2^{S_2} \dots p_t^{S_t}} = p_1^{\Gamma_1 - S_1} p_2^{\Gamma_2 - S_2} \dots p_t^{\Gamma_t - S_t}, \quad 0 \leq S_i \leq \Gamma_i, \quad i = 1, 2, \dots, t,$$

... $\frac{n!}{a!b! \dots m!} \in \mathbf{N}$.

3. $a, b \in \mathbf{R}^+$.

$$[2a] + [2b] \geq [a] + [b] + [a + b]$$

$$\cdot \quad a = [a] + r \quad b = [b] + s, \quad 0 \leq r < 1 \quad 0 \leq s < 1.$$

$$r + s < 1, \quad [a + b] = [a] + [b]$$

$$[2a] + [2b] \geq 2[a] + 2[b] = [a] + [b] + [a + b]$$

$$r + s \geq 1, \quad 2r \geq 1 \quad 2s \geq 1. \quad 2r \geq 1.$$

$$[a + b] = [a] + [b] + 1 \quad [2a] = 2[a] + 1,$$

$$[2a] + [2b] \geq 2[a] + 1 + 2[b] = [a] + [b] + [a + b].$$

7. $\frac{(2m)!(2n)!}{m!n!(m+n)!} \in \mathbf{N}, \quad m, n \in \mathbf{N}.$

.

p ,

p

p 2, -

$$s = \left[\frac{2n}{p}\right] + \left[\frac{2n}{p^2}\right] + \left[\frac{2n}{p^3}\right] + \dots + \left[\frac{2m}{p}\right] + \left[\frac{2m}{p^2}\right] + \left[\frac{2m}{p^3}\right] + \dots,$$

p

$$t = \left[\frac{n}{p}\right] + \left[\frac{n}{p^2}\right] + \left[\frac{n}{p^3}\right] + \dots + \left[\frac{m}{p}\right] + \left[\frac{m}{p^2}\right] + \left[\frac{m}{p^3}\right] + \dots + \left[\frac{m+n}{p}\right] + \left[\frac{m+n}{p^2}\right] + \left[\frac{m+n}{p^3}\right] + \dots$$

3, $a = \frac{n}{p^k}, b = \frac{m}{p^k}, k = 1, 2, \dots$

-
1. \sqrt{n} , n $[\sqrt{n}]$. n
 2. $x + [\frac{n}{x}] \geq 2[\sqrt{n}]$, $x, n \in \mathbf{N}$.
 3. $[a[na]] + 1 = [na^2]$, $n \in \mathbf{N}$ $a = \frac{1+\sqrt{5}}{2}$.
 4. p
 $p^n !?$
 5. , $\frac{p}{q}$, $p, q \in \mathbf{N}$, $\frac{p}{q} \geq [\frac{p}{q}] + \frac{1}{q}$.
 6. , a n
 $n[a] \leq [na] \leq n[a] + n - 1$.
 7. $\frac{(ab)!}{a!(b!)^a}$, $a, b \in \mathbf{N}$.
 8. x $[\sqrt{[\sqrt{x}]}] = [\sqrt{\sqrt{x}}]$.
 9.) a $\{a\} + \{\frac{1}{a}\} = 1$.
 10.) , a .
 $[\frac{a}{m}] + [\frac{2a}{m}] + \dots + [\frac{(m-1)a}{m}] = \frac{(m-1)(a-1)}{2}$, $m \geq 2, a \geq 2$ NZD(a, m) = 1 .
 11. $\sum_{k=0}^{n-1} [x + \frac{k}{n}] = [nx]$, $n \in \mathbf{N}$ $x \in \mathbf{R}$.
 12. $\sum_{k=1}^{n^2-1} [\sqrt{k}] = \frac{1}{6}(n-1)n(4n+1)$, $n \in \mathbf{N}$.
 13. , $n \in \mathbf{e}$ 1,
 $[\frac{n}{1}] + [\frac{n}{2}] + \dots + [\frac{n}{n}] = 2 + [\frac{n-1}{1}] + [\frac{n-1}{2}] + \dots + [\frac{n-1}{n-1}]$,
 n .
 14. :
) $\sum_{k=1}^{n^2+2n} k[\sqrt{k}]$,) $\sum_{k=1}^{n^2} \frac{n - [\sqrt{k-1}]}{\sqrt{k} + \sqrt{k-1}}$.
 15. $0 \leq x < 1$. $\sum_{k=1}^{\infty} \frac{(-1)^{[2^k x]}}{2^k} = 1 - 2x$.
-

-
16. $\{a_n\}, n=1,2, \dots$: n -
 $[\sqrt{10^n}], n=1,2,\dots$
 ?
17. $(2+\sqrt{2})^n$ n
 $0,999999?$
18. $n,$ $[(2-\sqrt{3})^n]$

Статијата прв пат е објавена во списанието СИГМА на Сојузот на математичарите на Македонија